
www.karag.it

ELIXIR INSTALLATION MANUAL

EN IT

K115, K120, K130, K290, K400N, K500N, K600N 



2ELIXIR

KARAG is not responsible for any spelling or typographical mistakes.

Elixir shower room series / Serie doccia Elixir

Elixir 100

Elixir 400

Elixir 200

Elixir 500



3 ELIXIR

New Elixir 400 New Elixir 500

NOTE:

New Elixir 600

Strong impact to the glass is avoided. When 
cleaning the glass please use the soft fabric 
with detergent. Do not use something hard to 
make scratch on the product.

Evitate qualsiasi forte impatto sul vetro. 
Si  prega  di  utilizzare  per  la  pulizia  del  ve-
tro un tessuto morbido con detergente. Non 
utillizare  detersivi  forti  per  evitare  la  possi-
bilita di grafiare il prodotto.



4ELIXIR

1. Packing list / Elenco di imballaggio

NOTE:

Please read this handbook carefully before the installation. Check the quantity 
of the installing accessories and whether the product was damaged during the 
transportation. If there is any problem please contact the local supplier and us 
immediately. You will have a satisfied answer.

Siete pregati di leggere attentamente questo manuale prima del installazione, 
verificandosi che sono inclusi tutti le parti da montare o/e verificare l’ integrita 
del prodotto durante il trasporto. In ogni caso contattate dirretamente il vostro 
fornitore.

22

23

24

Crew
cover

Set

pc

pc

E
LI

X
IR

 1
0

0

Square
tray

Glass for
movable door

Special
crew set

Water
bar

20

21

Description Diagram QuantityNO Unit

Glass fixed
on the left

Glass fixed
on the right

Roller

Flexible
glass clip

Limit
anxis

Beam
on top
AL fix

on wall
AL

cover
AL

cover

AL
cover

QuantityUnitDiagramDescriptionNO QuantityUnitDiagramDescriptionNO

Handle

Self tapping
screw

Self tapping

Self tapping

screw

screw

Rubber
plug

Crew
cover

Set

pc

pc

pc

Set

Set

Set

Set

pc

pc

pc

pc

pc

pc

Set

pc

pc

pc

pc

pc

pc

M1 limit
anxis

Socket
screw

wrench 4mm&5mm

8

1 2

8

Corner
bracket

S T4* 8

E
LI

X
IR

 2
00

Glass for
movable door

Special
crew set

Water
bar

8

20

21

Description Diagram Unit QuantityNO

Glass fixed
on the left

Glass fixed
on the

 
right

Roller

Flexible
glass clip

Limit
anxis

Beam
on top

AL fix
on wall

AL
cover

AL
cover

AL
cover

QuantityUnitDiagramNODescription QuantityUnitDiagramNODescription

Handle

Self tapping
screw

Self tapping
screw

Rubber
plug

Crew
cover

Arc tray Set

pc

pc

pc

Set

Set

Set

Set

Set

pc

pc

pc

pc

pc

pc

Set

pc

pc

pc

pc

M1 limit

anxis

Crew
cover

pc

pc
Socket
screw

wrench 4mm&5mm

1 2

1 2

22

K130

K290



5 ELIXIR

pc

7

E
LI

X
IR

 4
00

 Square &
Round

tray

Glass for
movable door

Special
crew set

Seal

20

21

22

Description Diagram Unit QuantityNO

Glass fix on
the side

Glass fixed
on the right

Roller

Flexible
glass clip

Limit
anxis

Beam
on top
AL fix

on wall
AL

cover

AL
cover

AL
cover

QuantityUnitDiagramNODescription QuantityUnitDiagramNODescription

Handle

Self tapping
screw

Self tapping
screw

Rubber
plug

Crew
cover

Set

pc

pc

pc

Set

Set

Set

Set

pc

pc

pc

pc

pc

pc

Set

pc

pc

pc

pc

Water
bar

pc 2

9

AL fix
on wall

pc 1

23

Set

24

25

26

27

AL
cover

pc

pc
M4* 2 0

2
M1 limit

anxis Connetor

Crew
cover

pc

pc
Socket
screw

wrench 4mm&5mm

6

Recessed
countersunk
head screw

7

E
LI

X
IR

 5
00

 Square &
Round

tray

Glass for
movable door

Special
crew set

Seal

20

21

22

Description Diagram QuantityNO Unit

Glass fix on
the side

Glass fixed
on the right

Roller

Flexible
glass clip

Limit
anxis

Beam
on top
AL fix

on wall
AL

cover
AL

cover

AL
cover

QuantityUnitDiagramDescriptionNO QuantityUnitDiagramDescriptionNO

Handle

Self tapping
screw

Self tapping
screw

Rubber
plug

Crew
cover

Set

pc

pc

pc

Set

Set

Set

Set

pc

pc

pc

pc

pc

pc

Set

pc

pc

pc

pc

pc

2

Water
bar

pc 2

2

2

Set

25

26

24

23
AL

cover
pc

pc

M 4 * 2 0
4

M1 limit
anxis

Connetor

Crew
cover

pc

pc
Socket
screw

wrench 4mm&5mm

6
Recessed

countersunk
head screw

22

23

Special
crew set

Water
bar

20

Description Diagram QuantityNO Unit

Roller

Flexible
glass clip
Limit
anxis

Beam
on top

AL fix

AL fix

on wall

on wall

AL
cover

AL
cover

AL
cover

QuantityUnitDiagramDescriptionNO QuantityUnitDiagramDescriptionNO

Handle

Self tapping
screw

Self tapping
screw

Rubber
plug

Crew
cover

Set

pc

pc

pc

Set

Set

Set

Set

pc

pc

pc

pc

pc

pc

Set

pc

pc

pc

Marble
rail

 Fixed
glass
Door
glass

2

8

8

Set
M1 limit

anxis

21

M4*25

Recessed
countersunk
head  screw

pc 1

Crew
cover

pc

pc

pc

Socket
screw

wrench 4mm&5mm

6

K120

K115

K400N



6ELIXIR

Crew
cover

Set

pc

pc

E
LI

X
IR

 5
00

Square
tray

Glass for
movable door

Special
crew set

Water
bar

20

21

22

23

24

Description Diagram Unit QuantityNO

Glass fixed
on the left

Glass fixed
on the right

Roller

Flexible
glass clip

Limit
anxis

Beam
on top

AL fix
on wall

AL
cover

AL
cover

AL

AL
cover

cover

QuantityUnitDiagramNODescription QuantityUnitDiagramNODescription

Handle

Self tapping
screw

Self tapping
screw

Rubber
plug

Crew
cover

Set

pc

pc

pc

Set

Set

Set

Set

pc

pc

pc

pc

pc

pc

pc

pc

Set

pc

pc

pc

pc

M1 limit
anxis

Connetor

pc
M4 * 2 0

2

Socket
screw

wrench 4mm&5mm

6

7

Recessed
countersunk
head screw

8

N
E

W
 E

LI
X

IR
 6

00

Special
crew set

Water
bar

20

21

M4*25

Description Diagram QuantityNO Unit

Roller

Flexible
glass clip
Limit
anxis

Beam
on top

AL fix
on wall

AL
cover

AL
cover

AL
cover

QuantityUnitDiagramDescriptionNO QuantityUnitDiagramDescriptionNO

Handle

Recessed
countersunk
head screw

Self tapping
screw

Self tapping
screw

Rubber
plug

Crew
cover

Set

pc

pc

pc

Set

Set

Set

Set

pc

pc

pc

pc

pc

pc

Set

pc

pc

pc

pc

Marble
rail

 Fixed
glass
Door
glass

4

2

2

Set
M1 limit

anxis

Crew
cover pc

pc
Socket
screw

wrench 4mm&5mm

12

22

2. Tools for installation / Atrezzi per l’installazione

  

  

 impact drill
avitatore elletrico

level
livella

rubber hammer
martello di gomma

pencil
matita

cross screw driver
caciavite a croce

tape
metro

glass glue
silicone

K500N

K600N



7 ELIXIR

The installation of sector tray is also suitable for the square tray.

Check the horizontal situation of the 
shower tray with a level.

Controllare la livellazione del piatto 
con una livella.

Valido per tutti i modelli sia angolari che semicircolari.

3. Installation of shower tray / Installazione piatto doccia 

Seal the gap on the bottom of the marble rail with the glass glue.

Check the horizontal situation of the marble rail.

Fissate il piatto doccia con silicone.

Controllare il posizionamento orizzontale.

The installation of marble rail K400N as an example.

Esempio del posizionamento del piatto doccia in pavimento (K400N).



8ELIXIR

4. Installation of flexible glass clip / Installazione del flessibile clip del vetro

M4*25

M4*25

K400N

K600N



9 ELIXIR

5. Installation position diagram / Posizionamento dei profili, in alluminio, 
fissi al muro

29

29

2
9

NEW ELIXIR 500

11

11

3
1

11

ELIXIR 500

1 1

32 32

ELIXIR 200

3
7

3
 
7

NEW ELIXIR 600

3
 
7

7
 
4
 
,5

ELIXIR 400

B

A

A

A

A

A

A

A

A A

AA A

A

A:

Profile fix on wall.

B:

Cover.

Profilo d’alluminio, fissato al muro.

Tappo.

K400N

K130

K500N K115

K120 K290

K600N



10ELIXIR

6. Installation of aluminium fix on wall / Fissagio dei profili fissi al muro

3

1

4

ST4*25

2

3.2

Rubber plug
Tappo gommoso

Alignment
Allineamento

Alignment
Allineamento

A

A:

Check the vertical situation of the aluminium 
with a level.

Controllare  il  posizionamento  verticale  del 
profilo con l’uso di una livella.

The installation of the aluminum fix on wall K290 as an example, also useful for
K115, K120, K130, K290, K400N, K500N, K600N

Valido per tutti i modelli.



11 ELIXIR

7. Installation of glass fixing / Installazione del vetro fisso

3

2
ST4*16

2

1

3.2

Decorative
crew
Rotella 
decorativa

Decorative
cover
Tappo
decorativo

Fix the glass to the aluminum on the side then scrow it 
to make it stable.

Fissate il vetro al profilo e avvitatelo per  stabilirlo.

The installation of the fixing glass K290 as an example also useful for
K115, K120, K130, K290, K400N, K500N, K600N

Valido per tutti i modelli.



12ELIXIR

8. The fixing of flexible glass clip / Fissagio del flessibile clip del vetro

9. Installation of beam / Installazione dei fasci -profili

Fix the M6*20 bolt and M6 nuts together with the glass; Fix it to the bottom 
tray or marble rail with the rubber plug and ST4*16 stainless steel recessed 
countersunk head self tapping screw.

Fix the limit anxis to the right hole on the beam with stainless steel recessed 
countersunk head screw ST4*12. Fix the beam to the fixed glass. Fix the 
hexagon  screw  to  the  side  of  aluminum  then  the  special  crew  fix  on  the 
outside of the glass, the special cover fix in the middle between the beam 
and glass.

Fissate il M6*20 e il M6 con il vetro e fissatelo sopra il piatto doccia con la 
vite ed il ST4*16

Fissate l’estremita destre  dei profili con il ST4*12. Fissate il profilo al vetro 
fisso. Fissate le vite exagonale con appositi rotelle e tappi con il vetro.

ST 4* 8

* 9.1. K130



13 ELIXIR

* 9.2. K290

* 9.3. K120

* 9.4. K115



14ELIXIR

* 9.5. K400N

* 9.6. K500N

* 9.7. K600N



15 ELIXIR

1

2

10. Installation of roller / Installazioe delle rotelle

11. Hang the door glass to the beam / Appesate la porta

Fix the roller on the door glass with socket screw wrench.

Back cover of glass clip. Back cover of glass clip.

Tappo del condotto per il 
clip del vetro.

Condotto di fissagio per 
il clip del vetro.

Fissate le rotelle al vetro della porta con l’apposito utensile.

Roller

Socket  Screw Wrench

M1 limi t anxis

Crew out the back cover of the flexible glass clip and the shaft, then fix the movable glass door 
into the grooves of the glass clip and hang it on the round beam then fix the shaft.

Togliete il condotto ed il tappo dal clip del vetro, in seguito posizionate la porta apribile tra le 
rotelle del profilo, appesendola ad esso ed in fine fissate di nuovo con il condotto ed il tappo.



16ELIXIR

KARAG ITALIA S.R.L.
Via Paletti 6,
41051 Castelnuovo Rangone (MO), Italia
Tel.: 0039-0595332125

www.karag.it / info@karag.it

C
o
p
y
ri

g
h
t 

©
 2

0
1
7

 K
A

R
A

G
 I
ta

lia
 S

rl
  

12. Installation of limit anxis / Installazione dei fissagi di regolazione per 
l’altezza

13. Installation of handle / Installazione delle maniglie

14. Cover / Tappi dei profili d’ alluminio

Crew out the back cover of the flex-
ible  glass  clip  and  the  shaft,  then 
fix  the  movable  glass  door  into  the 
grooves of the glass clip and hang it 
on the round beam then fix the shaft.

Regolare la posizionamento del 
condotto  per  ridurre  l’ostacolamento 
dello scorimento della porta.

1

2

3

 

cover

cover

 


	Diapositiva 1
	Diapositiva 2
	Diapositiva 3
	Diapositiva 4
	Diapositiva 5
	Diapositiva 6
	Diapositiva 7
	Diapositiva 8
	Diapositiva 9
	Diapositiva 10
	Diapositiva 11
	Diapositiva 12
	Diapositiva 13
	Diapositiva 14
	Diapositiva 15
	Diapositiva 16

